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X5 & B X6 # B X5 # B X6 & B
g A $ 97,500 $ 161,650 $ 198,000 $ 222,000
I 5 45,500 55,650 78,000 72,000
fwh E 41 52,000 106,000 120,000 150,000
1 41 41,600 84,800 96,000 120,000
A i&%‘? 1,100,000 1,300,000 1,500,000 1,800,000
é «;— 56% 52% 56% 52%
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X6 & & X7 & R
fis e 5 $150,000 $100,000
CAY 90,000 70,000
Jis i 1R A% 75,000 65,000
LS 600,000 900,000
s i ? 300,000 420,000
AL 825,000 675,000
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(=) FE2F X7 &R APFFT 4T st 5 (Current ratio) 5 1.65 > i@ &+t
(Quick ratio) = 1.30 - i f f 5$85,000 /id F A& e 7 M & ~ Btk i
FhoowN 24357 [54]
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i £ 3f TR &7
~HpE A $ 1,800,000 | & $ 6,235,200
B A= R T HE 2 360,000 | &4 & 474+ 72,000
H R TR 2 456,000 | & p 3w 288,000
HrFh 1,124,000 | & & = * 4,284,000
FF R Ttk AT 2T hk X dic(Average collection days for receivables) & % > ?
(- #1360 %3+) [5~]

(Z) D 4o @ X7 & B 76040 ™ 4 £ 297 5 $3,900,000 » d 4 24 42 %
* $2,535,000 > 414 % * $80,000 - ¥ % 1| 5 $585,000 - J&f< & #:$1,500,000 > # #
A~ Fus % K % £ 3E$5,500,000 0 & it 2058 $800,000 - #-FF - g iE 4 4% A& (Operating
leverage) % > ? [5 4]

(2 ) PR FHE% F ke @510 = 4 7 126,000 %% ; F 4 24 : $900,000 ;
A HERF P (RS ) 1 $450,000 ; B FULE 1 ¥ i R Hk 6,000 % 0 A A
$450,000 ; +#p 7= 4] : $1,050,000 > & 532 41$5.95 » X7 & & & 17 % $160 - i
Ltk 1 & (Book value per share) i % > ? [5 4]

(I ) AF4g 5k @Iz & & (Dividend payout ratio) = % > 7 [5 4]
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m#F A $ 37,669 $ 35469 ind f i $ 32,846 $ 34,139
snfs A 146,031 133,911 | inds f i 78,032 70,283
X $110,878  $104,422
5 W $ 72,822 $ 64,958
FARI  $183,700 $169,380| f # % 5 @3  $183,700 $169,380
W E % BENE
o £ (A £ )
RPN $29,582 AP x4l $1,757
¥k (20,466) i 3,356
CE SR 9,116 YEEF 2 ERE N 5,113
TR (5,975) HF a2 AR A (485)
& 455 ) 3,141 LTFE TR e (5,499)
- (1,385) R Kk 344
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PR (299) EP PREEHERE 8,793
F (s % 1 $1,457 WARIEZ Gy RE $8,266
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(- ) 4 % 48 ¥ & (Return on equity) [5 4 ]
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7 A ¥ #& & (Total asset turnover ratio) [5 4 ]

% (Profit margin before tax) [5 4 ]

1 i #ic(Interest coverage ratio) [5 4 ]

) & F P F 5 (Cash flow reinvestment ratio) [5 4 ]
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